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Not in something which is called w7 — WP IPIRT TN KD

OVERVIEW

The X723 stated that the °7°772 *12 were only able to eat 131277 72170, but not 7170
Xn>>7I87. The &) asked, but the 7109 preventing the °2°112 12 from eating stated
DWIPT WIPn 1998 XY WX, indicating that they were only forbidden from eating
2°w7p, but not from eating [Xn>71X7] 72170, The X723 responded that the word wTp
refers to 7170 and the word o°w7p refers to 0°w7p, so the °7°112 *12 were prohibited
from eating both [Xn»7X7] 7m0 and 2w7p. Our NMBOIN explains why it was
necessary for the P109 to say both w7p and 2°w7p.

mooIn asks:
= OVIPN N HaN? 9NN 9NV YNRYH NI ‘:vm-r QOXVTP YIPIN 221 11219 9NN ON)

And if you will say; but 7230 is also called 2’w7p, as it is written, ‘and the sun

will set and he will become 937% and afterwards he may eat from the aswTp’ -
- *Anyna Y9N WY 99NT 211913 999N NP NN

And that 05, which permits the ¥»v to eat 2°w7pi 1 after sunset is referring to
7Y only, and not to 2°w7p, as the Xn) states that after sunset the 7vIw Xnv

may eat 12170 (but not 2°w7p); so why do we need two 2’109 to teach us that the *%°12 °12
cannot eat 2°wTP1 7N, if it would just have said 2°w7pn 12 179%° X2 we would know that if refers
to both im0 and 2°wTp, since 72170 is also referred to as o°wp?!

nv0IN answers:
= QYR 2990 NN NPV 2) INTIT 91990 W

And one can say; that certainly regarding a 8% 77> we find that 72190 is called

QY72 (in the P10d just mentioned) -
191 NYYIN 220 DIWTP JNIUN KT NP 9T NYIINN NN YaN

However here by the *>°172 °12 we are discussing the prohibition of a =7 eating
7m0, and we do not find the term 2>w7p regarding the prohibition of =1 n%92K in
7110, However, we do find the term w7 used for 771702 91 090K as the X723 cites 2R K7 77 9

''1,23 (M) x1p. The 0°p10 there read; Xnv 22 ¥AIT) 702 MWK T YR XY DWTP2 2 IR YME RIA) TR YD WK UK T
12 VAR W W93 1 .INRRY 207 17 RpYY WK O7RY IX 2 X0Y WK YIY 222 ¥R WK TR IR 7527 N2OW 1m0 R¥D YR TR IR w3

_______

? See previous footnote # 1. It cannot be referring to 0*w7p because the 2°Xnw of 27 W 17X cannot eat 2°wTp with 27w7
wnw alone, they must first bring N11277 on the next day to be able to eat o°w7p. However they are permitted to eat
7N after they are 7210 and waw 27yn.
? See 2,7y mn.
* See “Thinking it over’.
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w1p. Therefore it was necessary for the P109 to write that the *2°112 °12 (who were suspected of
being 0°77) cannot eat Wpn (referring to 7m17N) and 2°w7pa (referring to nam “wp).

SUMMARY
7170 is referred as 0w only regarding a Xnv 373; regarding a 77 it is referred to
(only) as w7p.

THINKING IT OVER
How can we explain that even though 7m0 is referred to as °w7p regarding a 17
Xnb, it is not referred to as Dw7p regarding a 71?1 Seemingly the name 2°w7p is
referring to the 7170 (which is the same in all cases) and not to the purported eater
(the Xnv 375 or the 1).°

3 See footnote # 4.
% See prIX> MY AAAT K.
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